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Question ID:- 107
Directions: In the question given below, two signs in equation have been
interchanged. Find out these two signs to make the equation correct. (Using

Bodmas):
7+1+4=28
6+2+3=36

12+2+5=120

Options:-

=+, Option ID :- 425,

« _, Option ID :- 426,

= X, Option ID :- 427,

= None of these, Option ID :- 428,

Answer Given:- x, Option ID : -427
Correct Answer :- x Option ID :- 427

Question ID:- 81

An electric circuit is a continuous conducting path that consists of electric devices,
switching devices, source of electricity, etc., connected by which among the
following?

Options:-
sconducting wires, Option ID :- 321,
« plastic rods, Option ID :- 322,

» glass chips, Option ID :- 323,
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= glass rods, Option ID :- 324,
Answer Given:- conducting wires, Option ID : -321
Correct Answer :- conducting wires Option ID :- 321

Question ID:- 99
Which of the following expressions will be true if the expression M = K< T=Q'is
definitely true?

Options:-

:Q < K, Option ID :- 393,

« T=M, Option ID :- 394,

« M =Q, Option ID :- 395,

= None is true, Option ID :- 396,

Answer Given:- None is true , Option ID : -396
Correct Answer :- None is true Option ID :- 396
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Question ID:- 110
Among five girls Binita is taller than Monika, but not as tall as Rakhi. Juhi is taller than
Divya, but shorter than Monika. Who is the tallest ?

Options:-

«Juhi, Option ID :- 437,

= Binita, Option ID :- 438,
=« Rakhi, Option ID :- 439,

« Divya, Option ID :- 440,
Answer Given:- Rakhi, Option ID : -439
Correct Answer :- Rakhi Option ID :- 439

Question ID:- 57

What is the name of national rating system for green buildings in
India ?

Options:-

«GRIHA, Option ID :- 225,

« MAANAK, Option ID :- 226,

« GRIHMAANAK, Option ID :- 227,

= None of these, Option ID :- 228,
Answer Given:- GRIHMAANAK, Option ID : -227
Correct Answer :- GRIHA Option ID :- 225

Question ID:- 114

In the below given question, a few statements have been given. Analyse the given
statements and answer whether the data given in the statements are sufficient to
answer the question or not.

. In a certain code language, AIEEE is written as BJFFF.
II. In a certain code language, GYPSY is written as FXORX

How is PRODUCT written in that code language?

Options:-

«data in the statement I alone is sufficient to answer the question., Option ID :- 453,

» data in the statement II alone is sufficient to answer the question., Option ID :- 454,

= data given in both statements I & II together are not sufficient to answer the
question., Option ID :- 455,

= data in both statements I & II together are necessary to answer the question.,
Option ID :- 456,

Answer Given:- data given in both statements I & II together are not sufficient to
answer the question., Option ID : -455

Correct Answer :- data in both statements I & II together are necessary to answer the
question. Option ID :- 456

Question ID:- 41

Right to Constitutional Remedies comes from:
Options:-

=Natural rights, Option ID :- 161,

=« Fundamental rights, Option ID :- 162,

=« Provisional rights, Option ID :- 163,
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= None of these, Option ID :- 164,
Answer Given:- Fundamental rights, Option ID : -162
Correct Answer :- Fundamental rights Option ID :- 162
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Question ID:- 96

Ranu introduces Vipul as the son of the only brother of his father's wife. How is Ranu
related to Vipul?

Options:-

«Cousin, Option ID :- 381,

= Mother, Option ID :- 382,

= Sister-in-law, Option ID :- 383,

= Grandmother, Option ID :- 384,
Answer Given:- Cousin, Option ID : -381
Correct Answer :- Cousin Option ID :- 381

Question ID:- 38

justice is not mentioned in Preamble of the Constitution of India.
Options:-
=Social, Option ID :- 149,
= Religious, Option ID :- 150,
= Political, Option ID :- 151,

=« Economic, Option ID :- 152,
Answer Given:- Economic, Option ID : -152
Correct Answer :- Religious Option ID :- 150

Question ID:- 9

Which will be the apex governing body for air sports in India as per the National Air
Sports Policy?

Options:-

=«Ministry of Youth Affairs And Sports, Option ID :- 33,

=« Aero Club of India, Option ID :- 34,

= Air Sports Federation of India (ASFI), Option ID :- 35,

» Sports Authority of India, Option ID :- 36,
Answer Given:- Aero Club of India, Option ID : -34
Correct Answer :- Air Sports Federation of India (ASFI) Option ID :- 35

Question ID:- 49
India’s currency notes printing press is printed at which one of
these places?

Options:-

«Salboni, Option ID :- 193,

»« Gurugram , Option ID :- 194,
= Chennai, Option ID :- 195,

= Surat, Option ID :- 196,
Answer Given:- Chennai, Option ID : -195
Correct Answer :- Salboni Option ID :- 193

Question ID:- 90
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Options:-

«Unidirectional Power Supply, Option ID :- 357,

= Uninterruptible Power Supply, Option ID :- 358,
» Under Power Supply, Option ID :- 359,

=« Universal Power Supply, Option ID :- 360,
Answer Given:- Uninterruptible Power Supply, Option ID : -358
Correct Answer :- Uninterruptible Power Supply Option ID :- 358

Question ID:- 14
The unique Gandharan style of art is heavily influenced by which of the following art
styles ?

Options:-

«Chinese Art, Option ID :- 53,
= Persian Art, Option ID :- 54,
=« Greek Art, Option ID :- 55,

« Tribal Art, Option ID :- 56,
Answer Given:- Persian Art, Option ID : -54
Correct Answer :- Greek Art Option ID :- 55

Question ID:- 78

One of the following is not a type of communication. Which is it?

Options:-

«verbal, Option ID :- 309,

» written, Option ID :- 310,

= hon-verbal, Option ID :- 311,

= reading a story, Option ID :- 312,
Answer Given:- reading a story, Option ID : -312
Correct Answer :- reading a story Option ID :- 312

Question ID:- 67

Choose from the following given options, the appropriate active/passive form of the
given passive/active sentence: The crew paved the entire stretch of highway.

Options:-

«The entire stretch of highway were paving by crew., Option ID :- 265,

» The entire stretch of highway was paved by the crew., Option ID :- 266,
= The entire stretch of highway are paving by the crew., Option ID :- 267,

» None of these, Option ID :- 268,

Answer Given:- The entire stretch of highway were paving by crew., Option ID : -265
Correct Answer :- The entire stretch of highway was paved by the crew. Option ID :-
266

Question ID:- 56

Match the following

List | List Il

(Successional Communities) (examples)
T

1. Pioneer |A. forests
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Lhoose the correct answer from the options given below:
Options:-

«1-C, 2-A, 3-B, Option ID :- 221,

=« 1-B, 2-A, 3-C, Option ID :- 222,

« 1-A, 2-C, 3-B, Option ID :- 223,

=« 1-B, 2-C, 3-A, Option ID :- 224,
Answer Given:- 1-C, 2-A, 3-B, Option ID : -221
Correct Answer :- 1-C, 2-A, 3-B Option ID :- 221

Question ID:- 25

Which of the following is the largest state of India in terms of area

?

Options:-

sMadhya Pradesh, Option ID :- 97,
=« Uttar Pradesh, Option ID :- 98,

» Rajasthan, Option ID :- 99,

« Maharashtra, Option ID :- 100,
Answer Given:- Rajasthan, Option ID : -99
Correct Answer :- Rajasthan Option ID :- 99

Question ID:- 92
Which of the following is a network device that connects two or more network
segments?

Options:-

sRouter, Option ID :- 365,

» Topology, Option ID :- 366,
= Routing, Option ID :- 367,

=« Primary network, Option ID :- 368,
Answer Given:- Router, Option ID : -365
Correct Answer :- Router Option ID :- 365

Question ID:- 83

Which of the following instruments is used to measure pressure?
Options:-

=Barometer, Option ID :- 329,

= Anemometer, Option ID :- 330,

=« Thermometer, Option ID :- 331,

« Hygrometer, Option ID :- 332,
Answer Given:- Barometer, Option ID : -329
Correct Answer :- Barometer Option ID :- 329

Question ID:- 44
Which clause of the J&K Reorganisation Act 2019 specifies the duration of the
Legislative Assembly of the Union Territory of Jammu And Kashmir?

Options:-
=27, Option ID :- 173,
= 20, Option ID :- 174,
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= 14, Option ID :- 176,
Answer Given:- 17, Option ID : -175
Correct Answer :- 17 Option ID :- 175
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Question ID:- 72

Choose the correct word from the following options to complete the given sentence:
Mehul to market when he saw the accident.

Options:-

=have cycle, Option ID :- 285,

» cycle, Option ID :- 286,

= was cycling, Option ID :- 287,

« has cycle, Option ID :- 288,
Answer Given:- cycle, Option ID : -286
Correct Answer :- was cycling Option ID :- 287

Question ID:- 46
For this type of fertilizers, India is100% dependent on imports.
Identify the type.

Options:-

«Phosphate, Option ID :- 181,
« Potash, Option ID :- 182,

=« Urea, Option ID :- 183,

= Ammonium sulphate, Option ID :- 184,
Answer Given:- Not Attempted
Correct Answer :- Potash Option ID :- 182

Question ID:- 69

Read the short passage given below and answer the question from the following
given options, follow according to the passage only :

We must eat a balanced diet in order to not have certain nutritional deficiencies. One
of the most common nutritional deficiencies is iron deficiency anemia. Our blood
cells need iron to supply our body with oxygen, and if we don‘t have enough iron,
our blood will not function properly. Other nutritional deficiencies that can affect our
blood cells include low levels of vitamin B12, folate, or vitamin C. Vitamin D deficiency
may affect the health of our bones, making it difficult for us to absorb and use
calcium (another mineral that we may not be getting enough of). Although we can
get vitamin D by going out in the Sun, many people with concerns about skin cancer
may end up with low levels of vitamin D by not getting enough Sun.

Which one of the following are nutritional deficiencies that can affect our blood cells?
Options:-

«Vitamin B12, Option ID :- 273,

= Folate, Option ID :- 274,

« Vitamin C, Option ID :- 275,

= All of these, Option ID :- 276,
Answer Given:- All of these, Option ID : -276
Correct Answer :- All of these Option ID :- 276

Question ID:- 97
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Elephant, Option ID :- 385,
Herb, Option ID :- 386,
=« Seed, Option ID :- 387,

= Crop, Option ID :- 388,
Answer Given:- Elephant, Option ID : -385
Correct Answer :- Elephant Option ID :- 385

Question ID:- 70

Fill in the blank with the appropriate conjunction from the given
options to make it a meaningful sentence:

Strangely, neither Ronaldo_____ Christina saw what happened.
Options:-

«until, Option ID :- 277,

=« and, Option ID :- 278,

« because, Option ID :- 279,

= hor, Option ID :- 280,
Answer Given:- nor, Option ID : -280
Correct Answer :- nhor Option ID :- 280

Question ID:- 28

Which of the following is true about Coriolis force ?

Options:-

«It is absent at the poles., Option ID :- 109,

» It is maximum at the equator, Option ID :- 110,

= It is directly proportional to the angle of Latitude, Option ID :- 111,

= None of these, Option ID :- 112,
Answer Given:- It is absent at the poles., Option ID : -109
Correct Answer :- It is directly proportional to the angle of LatitudeOption ID :- 111

Question ID:- 109
Find the Odd One Out from following given options

Options:-

sUnacceptable, Option ID :- 433,
= Desirable, Option ID :- 434,

= Welcome, Option ID :- 435,

=« Appreciated, Option ID :- 436,
Answer Given:- Unacceptable, Option ID : -433
Correct Answer :- Unacceptable Option ID :- 433

Question ID:- 94

Solve the given puzzle:
1111=R
2222=T
3333=E

4444=N
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Options:-

=Y, Option ID :- 373,
« U, Option ID :- 374,
« F, Option ID :- 375,

=« S, Option ID :- 376,
Answer Given:- Y, Option ID : -373
Correct Answer :- Y Option ID :- 373

Question ID:- 12
What is the theme of 'Digital India Week 2022'?

Options:-

=«Catalyzing Young India’s Techade, Option ID :- 45,
« India's Digital march, Option ID :- 46,

» Catalyzing New India’s Techade, Option ID :- 47,

= Treading beyond Silicon valley, Option ID :- 48,
Answer Given:- Not Attempted
Correct Answer :- Catalyzing Young India’s Techade Option ID :- 45

Question ID:- 87

Natural rubber is obtained from which among the following?

Options:-

«latex, Option ID :- 345,
= coal, Option ID :- 346,
= 0il, Option ID :- 347,

=« petroleum, Option ID :- 348,
Answer Given:- latex, Option ID : -345
Correct Answer :- latex Option ID :- 345

Question ID:- 75

Fill in the blank by using the correct appropriate word from the
following given options :

The shopkeeper was too arrogant ___ admit his mistake.
Options:-

«to, Option ID :- 297,

« with, Option ID :- 298,

= by, Option ID :- 299,

« for, Option ID :- 300,
Answer Given:- to, Option ID : -297
Correct Answer :- to Option ID :- 297

Question ID:- 10

‘International Dairy Federation World Dairy Summit 2022' was inaugurated at which
place?

Options:- Page- 9
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Gwalier, Madhya Pradesh, Option ID :- 39,

Sikar, Rajasthan, Option ID :- 40,
Answer Given:- Not Attempted
Correct Answer :- Noida Option ID :- 37

Question ID:- 73

Choose the option from the following which best expresses the meaning of the given
idiom/phrase :

shape up or ship out

Options:-

«Work better or leave, Option ID :- 289,

« Do it slowly and carefully, Option ID :- 290,

= Something common, Option ID :- 291,

=« Don't be so critical, Option ID :- 292,
Answer Given:- Work better or leave, Option ID : -289
Correct Answer :- Work better or leave Option ID :- 289

Question ID:- 79

Choose the correct option:

I'll call you after the airport.
Options:-

sreaching, Option ID :- 313,
» reaches, Option ID :- 314,
= reach, Option ID :- 315,

» reached, Option ID :- 316,
Answer Given:- reaching, Option ID : -313
Correct Answer :- reaching Option ID :- 313

Question ID:- 91
Which of the following keyboard shortcut is used to “paste” a text/object?

Options:-

«Ctrl+N, Option ID :- 361,
« Ctrl+L, Option ID :- 362,
= Ctrl+V, Option ID :- 363,

« Ctrl+K, Option ID :- 364,
Answer Given:- Ctrl+V, Option ID : -363
Correct Answer :- Ctrl+V Option ID :- 363

Question ID:- 37

Which of the following is not a condition to acquire Indian citizenship ?
Options:-

«Birth, Option ID :- 145,

=« Descendant, Option ID :- 146,

=« Acquire property, Option ID :- 147,

« Naturalisation, Option ID :- 148,
Answer Given:- Acquire property, Option ID : -147
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Question ID:- 24

Which of the following river originates at Amarkantak ?

Options:-

«Narmada, Option ID :- 93,

=« Godavari, Option ID :- 94,
=« Mahanadi, Option ID :- 95,

» Ghaghar, Option ID :- 96,
Answer Given:- Mahanadi, Option ID : -95
Correct Answer :- Narmada Option ID :- 93

Question ID:- 54

The Central Accounts Section of Reserve Bank of India is located at

Options:-

«Mumbai, Option ID :- 213,
= Chennai, Option ID :- 214,
= Nagpur, Option ID :- 215,

= Delhi, Option ID :- 216,
Answer Given:- Mumbai, Option ID : -213
Correct Answer :- Nagpur Option ID :- 215

Question ID:- 71

Choose the part (A/B/C) of the given sentence that contains an error. If the given
sentence does not contain any error, mark "No error” as the answer. Ignore the
punctuation error, if any.

What time (A) / do their flight (B) / to Paris leave? (C) / No error (D)
Options:-

«C, Option ID :- 281,

« A, Option ID :- 282,

« B, Option ID :- 283,

=« D, Option ID :- 284,
Answer Given:- C, Option ID : -281
Correct Answer :- B Option ID :- 283

Question ID:- 115

The question given below, two statements | & Il have been given. Analyse and answer
whether the data provided in the two statements are sufficient to answer the
question or not.

How many visitors saw the trade fair yesterday?
l. Each entry pass holder is allowed to take up to three persons with him or her.

II. In all, 250 entry passes were sold yesterday.
Options:-

«Statement I alone is sufficient, but statement II alone is not sufficient, Option ID :-
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Data in both the statements together are not sufficient, Option ID :- 459,

Both statement I and statement II together are needed, Option ID :- 460,
Answer Given:- Both statement I and statement II together are needed, Option ID : -
460
Correct Answer :- Data in both the statements together are not sufficient Option ID :-
459

Question ID:- 80

Which one of the following is NOT an element of Emotional Intelligence?
Options:-

=Motivation, Option ID :- 317,

« Self-awareness, Option ID :- 318,

= Self-esteem, Option ID :- 319,

» Self regulation, Option ID :- 320,
Answer Given:- Not Attempted
Correct Answer :- Self-esteem Option ID :- 319

Question ID:- 104

Choose from the following given options the pair which is same in relationship as in :

LIGHT:BLIND

Options:-

sspeech:dumb, Option ID :- 413,
= taste:see, Option ID :- 414,

= tongue:work, Option ID :- 415,

= hone of these, Option ID :- 416,
Answer Given:- speech:dumb, Option ID : -413
Correct Answer :- speech:dumb Option ID :- 413

Question ID:- 105

In a certain code, PILLER is written as 318826 and LIFE is written as 8192, How is
RIPPLE written in that code ?

Options:-

2631826, Option ID :- 417,
= 618326, Option ID :- 418,
= 613382, Option ID :- 419,

=« 613276, Option ID :- 420,
Answer Given:- 613382, Option ID : -419
Correct Answer :- 613382 Option ID :- 419

Question ID:- 40

Who is ex-officio chairman of Council of States?
Options:-

«President, Option ID :- 157,

= Prime minister, Option ID :- 158,
= Vice president, Option ID :- 159,

=« Finance minister, Option ID :- 160,

Ancuwwriar Civani'- \fira nracidant Antian T « .1 EQ
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Question ID:- 93

lllegal copying, distribution and use of licensed software is called _____
Options:-

sLegal marketing, Option ID :- 369,

= Ethical Promotion, Option ID :- 370,

« Software Piracy, Option ID :- 371,

= All of these, Option ID :- 372,
Answer Given:- Software Piracy, Option ID : -371
Correct Answer :- Software Piracy Option ID :- 371

GET IT ON
Google Play

Question ID:- 22
Rohtang La or Rohtang Pass Geographically falls in the of the Himalayas. It

connects Kullu Valley to the beautiful valleys of Lahaul and Spiti.

Options:-

«Western end of the Pir Panjal Range, Option ID :- 85,
« Eastern end of the Pir Panjal Range, Option ID :- 86,
= Western end of the Himadri Range, Option ID :- 87,

= Eastern end of the Himadri Range, Option ID :- 88,
Answer Given:- Eastern end of the Pir Panjal Range, Option ID : -86
Correct Answer :- Eastern end of the Pir Panjal Range Option ID :- 86

Question ID:- 64

Collection of policies, infrastructure, services, transportation, energy systems, and
planning that positions communities to prepare for and respond to the impacts of
climate change is called:

Options:-

«Climate Adaptation, Option ID :- 253,
= Climate Resilience, Option ID :- 254,
» Climate Mitigation, Option ID :- 255,

= None of these, Option ID :- 256,
Answer Given:- Climate Resilience, Option ID : -254
Correct Answer :- Climate Resilience Option ID :- 254

Question ID:- 76

In the following question, a sentence has been split into four parts marked P, Q, R
and S which have been jumbled up. Rearrange these parts to make a grammatically
correct and meaningful sentence.

P: of the painting
Q: larger version
R: this is a much

S: | had seen
Options:-
«PQSR, Option ID :- 301,

« PRQS, Option ID :- 302,
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Correct Answer :- RQPS Option ID :- 303
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Question ID:- 77
Which of the following behaviours is acceptable in a group
discussion?

Options:-

sListen carefully, Option ID :- 305,

=« Argue and shout, Option ID :- 306,

=« Focus on one person only, Option ID :- 307,

= Talk irrelevant things and distract the discussion, Option ID :- 308,
Answer Given:- Listen carefully, Option ID : -305
Correct Answer :- Listen carefully Option ID :- 305

Question ID:- 60

Which of the following Plants is correctly matched with Natural
vegetation type ?

Options:-

«Ebony - Littoral Forests, Option ID :- 237,

= Birch - Tropical evergreen, Option ID :- 238,

=« Shisham - Tropical Deciduous, Option ID :- 239,

= None of these, Option ID :- 240,
Answer Given:- Not Attempted
Correct Answer :- Shisham - Tropical Deciduous Option ID :- 239

Question ID:- 100

Ashish is younger than Parul by 10 years. If the ratio of their ages is 3:5, what are their
ages?

Options:-

«30, 20, Option ID :- 397,
= 25, 15, Option ID :- 398,
« 10, 35, Option ID :- 399,

= 40, 30, Option ID :- 400,
Answer Given:- 25, 15, Option ID : -398
Correct Answer :- 25, 15 Option ID :- 398

Question ID:- 82

Antibodies are produced in the plasma of blood by which of the
following?

Options:-

«Monocytes, Option ID :- 325,

» Lymphocytes, Option ID :- 326,
= Eosinophils, Option ID :- 327,

= Neutrophils, Option ID :- 328,
Answer Given:- Monocytes, Option ID : -325
Correct Answer :- Lymphocytes Option ID :- 326

Question ID:- 53

To which catnintrv doec the econnmist Damhica Maova helana?
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Tanzania, Option ID :- 209,
=« Zambia, Option ID :- 210,
« Namibia, Option ID :- 211,

=« Zimbabwe, Option ID :- 212,
Answer Given:- Not Attempted
Correct Answer :- Zambia Option ID :- 210

Question ID:- 47

Which of these started the process of capturing district-wise data on origin of export
goods in 20207

Options:-

=«Central Board of Indirect Taxes and Customs, Option ID :- 185,
= NITI Aayog, Option ID :- 186,

= Department of Revenue, Option ID :- 187,

» Ministry of Finance, Option ID :- 188,
Answer Given:- Not Attempted
Correct Answer :- Central Board of Indirect Taxes and Customs Option ID :- 185

Question ID:- 27

Eskers and Drumlins are features of which kind of landscape ?
Options:-

«Mountains, Option ID :- 105,

« Valleys, Option ID :- 106,

= Plains, Option ID :- 107,

» Glacier, Option ID :- 108,
Answer Given:- Glacier, Option ID : -108
Correct Answer :- Glacier Option ID :- 108

Question ID:- 3
Which Indian village has been awarded as the "Best Tourism Village" by United
Nations World Tourism Organisation (UNWTO) for the year 20217

Options:-

«Vennampalli, Option ID :- 9,

= Veernapalli, Option ID :- 10,
=« Pochampally, Option ID :- 11,

« Thana Kurd, Option ID :- 12,
Answer Given:- Not Attempted
Correct Answer :- Pochampally Option ID :- 11

Question ID:- 34

In which year, the Citizenship Act was passed by Parliament ?
Options:-

«1955, Option ID :- 133,

= 1950, Option ID :- 134,

= 1965, Option ID :- 135,

= 1960, Option ID :- 136,
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Question ID:- 33

Why do we need independent Judiciary ?

Options:-

=Judges can take decisions without fear, Option ID :- 129,
= Legislative is too complicated, Option ID :- 130,

» Corrupted Executives, Option ID :- 131,

=« Unstable Political system, Option ID :- 132,
Answer Given:- Judges can take decisions without fear, Option ID : -129
Correct Answer :- Judges can take decisions without fear Option ID :- 129

Question ID:- 32

Which of the following country has longest rail transport network size based on the
length of rail lines ?

Options:-

«China, Option ID :- 125,

= India, Option ID :- 126,

= United States, Option ID :- 127,

»« Russia, Option ID :- 128,
Answer Given:- United States, Option ID : -127
Correct Answer :- United States Option ID :- 127

Question ID:- 62
What is the major component in Coal bed Methane (CBM) ?

Options:-

sCarbon dioxide, Option ID :- 245,
» Methane, Option ID :- 246,

« Butane, Option ID :- 247,

= Propane, Option ID :- 248,
Answer Given:- Not Attempted
Correct Answer :- Methane Option ID :- 246

Question ID:- 26

On which river Nagarjuna Sagar Dam is build ?
Options:-

«Tapti, Option ID :- 101,

« Jhelam, Option ID :- 102,

= Krishna, Option ID :- 103,

=« Godavari, Option ID :- 104,
Answer Given:- Krishna, Option ID : -103
Correct Answer :- Krishna Option ID :- 103

Question ID:- 39

Which article of the Indian Constitution empowers to declare National Emergency ?

Options:-
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360, Option ID :- 156,
Answer Given:- 352, Option ID : -154
Correct Answer :- 352 Option ID :- 154
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Question ID:- 36

The total number of Council of Ministers should not exceed of total number
of members in House of the People.

Options:-

=«10%, Option ID :- 141,
=« 15%, Option ID :- 142,
=« 20%, Option ID :- 143,

= 25%, Option ID :- 144,
Answer Given:- 15%, Option ID : -142
Correct Answer :- 15% Option ID :- 142

Question ID:- 86

Which of the following is also called as Ethanoic acid?
Options:-

«Citric acid, Option ID :- 341,

=« Carbonic acid, Option ID :- 342,

« Formic acid, Option ID :- 343,

= Acetic acid, Option ID :- 344,
Answer Given:- Not Attempted
Correct Answer :- Acetic acid Option ID :- 344

Question ID:- 23

The Tropic of Cancer does not passes through which Indian state among the given
options:

Options:-

=Madhya Pradesh, Option ID :- 89,
=« Mizoram, Option ID :- 90,

=« Assam, Option ID :- 91,

« Tripura, Option ID :- 92,
Answer Given:- Assam, Option ID : -91
Correct Answer :- Assam Option ID :- 91

Question ID:- 51
In 2020 which company announced that it would to invest $1 billion to digitise Small
and Medium Businesses in India?

Options:-

«Facebook, Option ID :- 201,
« Amazon, Option ID :- 202,
» Google, Option ID :- 203,

= Microsoft, Option ID :- 204,
Answer Given:- Not Attempted
Correct Answer :- Amazon Option ID :- 202

Question ID:- 30
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Options:-

sTemperature decreases with increasing height, Option ID :- 117,
» Temperature increases with increasing height, Option ID :- 118,
» Temperature is constant, Option ID :- 119,

= None of these, Option ID :- 120,
Answer Given:- Temperature increases with increasing height, Option ID : -118
Correct Answer :- Temperature decreases with increasing height Option ID :- 117

Question ID:- 2
In which country did Shanghai Cooperation Organisation (SCO) 2022 summit take

place?

Options:-

«Shanghai, Option ID :- 5,

» Uzbekistan, Option ID :- 6,
« Pakistan, Option ID :- 7,

» Kyrgyzstan, Option ID :- 8,
Answer Given:- Uzbekistan, Option ID : -6
Correct Answer :- Uzbekistan Option ID :- 6

Question ID:- 16

The title "Lakh Baksh" was given to which of the following sultan of Delhi sultanate ?
Options:-

«Muhammad Bakhtiyar Khilji, Option ID :- 61,

« Iltutmish, Option ID :- 62,

= Qutubuddin Aibak, Option ID :- 63,

« Balban, Option ID :- 64,
Answer Given:- Not Attempted
Correct Answer :- Qutubuddin Aibak Option ID :- 63

Question ID:- 119
The shop of electronic goods is closed on Monday. The average daily sales for
remaining six days of a week is Rs 15,640 and the average sales of Tuesday to

P

Saturday is Rs 14124. How much sales on Sunday ?
Options:-

«Rs 23220, Option ID :- 473,

= Rs 28030, Option ID :- 474,

« Rs 20040, Option ID :- 475,

= Rs 26420, Option ID :- 476,
Answer Given:- Rs 23220, Option ID : -473
Correct Answer :- Rs 23220 Option ID :- 473

Question ID:- 121

The record of a weather station shows that out of the past 250 consecutive days, its
weather forecasts were correct 175 times. What is the probability that on a given day
it was correct?

Options:-



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

0.3, Option ID :- 484,
Answer Given:- 0.7, Option ID : -483
Correct Answer :- 0.7 Option ID :- 483

Question ID:- 120
A shopkeeper bought 200 bulbs for Rs 10 each. Out of those, 5 bulbs were fused so

he sold the remaining at Rs 12 each. What will be the percentage of gain or loss for
shopkeeper ?

Options:-

sLoss 17%, Option ID :- 477,
=« Gain 15%, Option ID :- 478,
»« Gain 17%, Option ID :- 479,

=« Loss 15%, Option ID :- 480,
Answer Given:- Gain 17%, Option ID : -479
Correct Answer :- Gain 17% Option ID :- 479

Question ID:- 20
Who among the following was elected as the first president of Indian National
Congress founded in 1885 ?

Options:-

«Womesh Chandra Banerjee, Option ID :- 77,
= Allan Octavian Hume, Option ID :- 78,

=« Dadabhai Naoroji, Option ID :- 79,

« Lal Bahadur Shastri, Option ID :- 80,
Answer Given:- Womesh Chandra Banerjee, Option ID : -77
Correct Answer :- Womesh Chandra Banerjee Option ID :- 77

Question ID:- 35

Which is the oldest system designed for redressal of Citizen's

grievances ?

Options:-

«Ombudsman system, Option ID :- 137,
» Lokpal, Option ID :- 138,

» Lokayukta, Option ID :- 139,

= None of these, Option ID :- 140,
Answer Given:- Not Attempted
Correct Answer :- Ombudsman system Option ID :- 137

Question ID:- 84

Which of the following organs is Myopia related to?

Options:-

shuman eye, Option ID :- 333,

« human ear, Option ID :- 334,

« human brain, Option ID :- 335,

= human heart, Option ID :- 336,
Answer Given:- human eye, Option ID : -333
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Question ID:- 89

Calcium deficiency in the body occurs in the absence of which among the following?
Options:-

«Vitamin C, Option ID :- 353,

=« Vitamin D, Option ID :- 354,

=« Vitamin A, Option ID :- 355,

= Vitamin E, Option ID :- 356,
Answer Given:- Vitamin D, Option ID : -354
Correct Answer :- Vitamin D Option ID :- 354
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Question ID:- 116

The sum of the squares of two natural consecutive odd numbers is 394. What will be
the sum of the numbers ?

Options:-

«21, Option ID :- 461,
= 24, Option ID :- 462,
« 28, Option ID :- 463,

= 32, Option ID :- 464,
Answer Given:- 28, Option ID : -463
Correct Answer :- 28 Option ID :- 463

Question ID:- 98
Three of the given four pair of numbers follow a particular logic while the fourth pair
doesn't. Find the odd pair.

Options:-

«6:9, Option ID :- 389,

= 7:73, Option ID :- 390,
« 18:27, Option ID :- 391,

=« 14:21, Option ID :- 392,
Answer Given:- 7:73, Option ID : -390
Correct Answer :- 7:73 Option ID :- 390

Question ID:- 7
Who is the High commissioner of the Office of the 'United Nations High

Commissioner for Human Rights' ?

Options:-

s«Michelle Bachelet, Option ID :- 25,
= Kyle F. Ward, Option ID :- 26,

« Emma Reilly, Option ID :- 27,

= Volker Tiirk, Option ID :- 28,
Answer Given:- Not Attempted
Correct Answer :- Volker Tiirk Option ID :- 28

Question ID:- 85

Dehydration of ethanol gives which among the following?

Options:-
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ethene, Option ID :- 339,

= ether, Option ID :- 340,
Answer Given:- ethene, Option ID : -339
Correct Answer :- ethene Option ID :- 339

Question ID:- 42
Which are the two districts that make up the Union Territory of Ladakh as per the
Jammu & Kashmir Reorganisation Act, 20197

Options:-

«Kargil and Leh, Option ID :- 165,

« Kargil and Gulmarg, Option ID :- 166,
» Leh and Gulmarg, Option ID :- 167,

= Srinagar and Kargil, Option ID :- 168,
Answer Given:- Kargil and Leh, Option ID : -165
Correct Answer :- Kargil and Leh Option ID :- 165

Question ID:- 18

Who among the following had launched the Non-cooperation Movement?
Options:-

«Mahatma Gandhi, Option ID :- 69,

= Gokhale, Option ID :- 70,

=« Jawaharlal Nehru, Option ID :- 71,

» Bal Gangadhar Tilak, Option ID :- 72,
Answer Given:- Mahatma Gandhi, Option ID : -69
Correct Answer :- Mahatma Gandhi Option ID :- 69

Question ID:- 102
The ages of Pratik and Aarif differ by 20 years. If 5 years ago, Pratik was 5 times as old
as Aarif, their present ages (in years) are-

Options:-

=45, 25, Option ID :- 405,
=« 39, 19, Option ID :- 406,
=« 33, 23, Option ID :- 407,

« 30, 10, Option ID :- 408,
Answer Given:- 30, 10, Option ID : -408
Correct Answer :- 30, 10 Option ID :- 408

Question ID:- 106

Read the following statement and conclusions and find which option is correct.
Statement: Some kits are books. All books are good. Conclusions:
I. All kits are good.

II. All books are kits.
Options:-
:Only conclusion I follows, Option ID :- 421,

= Only conclusion II follows, Option ID :- 422,

= Both follow I and II. Obtion ID :- 423.
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Answer Given:- None follow, Option ID : -424
Correct Answer :- None follow Option ID :- 424

Question ID:- 66
Choose from the following given options the word that is opposite in meaning
(antonym) of the word given below :

AMBIVALENT
Options:-
«hesitant, Option ID :- 261,
« certain, Option ID :- 262,
= unsure, Option ID :- 263,

= ambiguous, Option ID :- 264,
Answer Given:- certain, Option ID : -262
Correct Answer :- certain Option ID :- 262

Question ID:- 112

Directions:Study the below given table and answer the given question based on it.

Item of Expenditure

o Salary Fuel and Transport Bonus Interest on Loans Taxes'
108 | 28 | % 300 | 24 B
1999 | 342 12 252 25 108
200 | 34 | 101 | am | 416 7
2001 | 3% | 139 | 368 | %4 8
200 | 420 | 142 3% | 494 e |

The total amount of bonus paid by the company during the given period is
approximately what percent of the total amount of salary paid during this period?

Options:-

«1%, Option ID :- 445,

» 17%, Option ID :- 446,
= 10%, Option ID :- 447,

= 7%, Option ID :- 448,
Answer Given:- 1%, Option ID : -445
Correct Answer :- 1% Option ID :- 445

Question ID:- 68

Which of the following word means:

Two metal rings, joined by a short chain, that are locked around a prisoner's wrists
Options:-

<handbook, Option ID :- 269,

=« handcuffs, Option ID :- 270,

=« handbrakes, Option ID :- 271,

» handicap, Option ID :- 272,
Answer Given:- handcuffs, Option ID : -270
Correct Answer :- handcuffs Option ID :- 270
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Options:-

«World Trade Organization, Option ID :- 21,

» International Telecommunication Union, Option ID :- 22,
= World Economic Forum, Option ID :- 23,

=« UNICEF, Option ID :- 24,
Answer Given:- Not Attempted
Correct Answer :- International Telecommunication Union Option ID :- 22

Question ID:- 58
What is the name of community volunteer programme launched by Indian
government to protect snow leopards ?

Options:-

sHimjeev, Option ID :- 229,

« Himal Sanrakshak, Option ID :- 230,
=« COPSLEO, Option ID :- 231,

= None of these, Option ID :- 232,
Answer Given:- COPSLEO, Option ID : -231
Correct Answer :- Himal Sanrakshak Option ID :- 230

Question ID:- 88

In which of the following sphere of the atmosphere is the Ozone
layer found?

Options:-

«Lithosphere, Option ID :- 349,

=« Hydrosphere, Option ID :- 350,
= Stratosphere, Option ID :- 351,

» Chromosphere, Option ID :- 352,
Answer Given:- Stratosphere, Option ID : -351
Correct Answer :- Stratosphere Option ID :- 351

Question ID:- 111

Choose the correct venn diagram that represents the mutual relationship between
"Doctors, Surgeons, llliterates" in best possible manner.

9@ O ©O-

Mm@ (©)) 4)
Options:-
=1, Option ID :- 441,
« 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444
Correct Answer :- 4 Option ID :- 444

Question ID:- 55
Kashmir stag is listed as Endangered on the IUCN Red List. Which of the following is

true for Kashmir stag ?
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Options:-

«Only 1, Option ID :- 217,

= Only 2, Option ID :- 218,

= Both 1 and 2, Option ID :- 219,

= None of these, Option ID :- 220,
Answer Given:- None of these, Option ID : -220
Correct Answer :- Only 1 Option ID :- 217
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Question ID:- 50

How many Maharatna CPSEs are there, as of the current date?
Options:-

.10, Option ID :- 197,

=« 14, Option ID :- 198,

« 74, Option ID :- 199,

= 12, Option ID :- 200,
Answer Given:- Not Attempted
Correct Answer :- 10 Option ID :- 197

Question ID:- 118

David got two and a half time as many marks in English as in History. If his total
marks in the two subjects are 140, the marks obtained by him in English :

Options:-

«80, Option ID :- 469,
= 57, Option ID :- 470,
= 49, Option ID :- 471,

=« 100, Option ID :- 472,
Answer Given:- 100, Option ID : -472
Correct Answer :- 100 Option ID :- 472

Question ID:- 13
The Kalibangan Harappan Site is located in which among the following states of
India?

Options:-

«Jammu & Kashmir, Option ID :- 49,
=« Rajasthan, Option ID :- 50,

=« Maharashtra, Option ID :- 51,

« Haryana, Option ID :- 52,
Answer Given:- Rajasthan, Option ID : -50
Correct Answer :- Rajasthan Option ID :- 50

Question ID:- 113

Directions: Study the below given line graph and answer the given question:

Number of Vehicles Manufactured by Two companies ove the Years (Number in Thousands)

160 159
3 148

¥ 140
3
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1997 1998 1969 2000 2001 2002

X Y

The production of Company Y in 2000 was approximately what percent of the
production of Company X in the same year ?

Options:-

«154%, Option ID :- 449,
=« 133%, Option ID :- 450,
» 164%, Option ID :- 451,

=« 110%, Option ID :- 452,
Answer Given:- 164%, Option ID : -451
Correct Answer :- 164% Option ID :- 451

Question ID:- 48

In the New Industrial Policy 1991, Direct foreign investment upto % of equity in
high priority industries was allowed.

Options:-

=«31%, Option ID :- 189,

= 41%, Option ID :- 190,

= 51%, Option ID :- 191,

» 61%, Option ID :- 192,

Answer Given:- Not Attempted

Correct Answer :- 51% Option ID :- 191

Question ID:- 43
Section 41 of the J&K Reorganisation Act 2019 deals with

Options:-

«Annual financial statement., Option ID :- 169,

= Appropriation Bills, Option ID :- 170,

= Bills reserved for consideration, Option ID :- 171,

= Procedure as to lapsing of Bills., Option ID :- 172,
Answer Given:- Annual financial statement., Option ID : -169
Correct Answer :- Annual financial statement. Option ID :- 169

Question ID:- 8

Peechi Wildlife Sanctuary is in which of the following state ?
Options:-

«Sikkim, Option ID :- 29,

= Orissa, Option ID :- 30,

= Kerala, Option ID :- 31,

« Uttarakhand, Option ID :- 32,
Answer Given:- Not Attempted
Correct Answer :- Kerala Option ID :- 31

Question ID:- 65

Choose the correctly spelt word from the following given options.
Options:-
sapparently, Option ID :- 257,
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= apraently, Option ID :- 259,

« aparrently, Option ID :- 260,
Answer Given:- apparently, Option ID : -257
Correct Answer :- apparently Option ID :- 257
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Question ID:- 4
When is the World Wetland Day celebrated every year ?

Options:-

«February 2, Option ID :- 13,
=« June 10, Option ID :- 14,

« January 21, Option ID :- 15,

= September 11, Option ID :- 16,
Answer Given:- Not Attempted
Correct Answer :- February 2 Option ID :- 13

Question ID:- 29

Which of the following is matched correctly
1. Mountain building process - Orogeny

2. Continental building process - Epeirogeny
3. Geomorphic agent - Exogenic element
Options:-

«1 and 3, Option ID :- 113,

=« 1 and 2, Option ID :- 114,

= 2 and 3, Option ID :- 115,

=« 1, 2 and 3, Option ID :- 116,
Answer Given:- Not Attempted
Correct Answer :- 1, 2 and 3 Option ID :- 116

Question ID:- 11

In which city is the “Kumaon Literary Festival 2022 to be celebrated ?
Options:-

«Srinagar, Option ID :- 41,

= Dehradun, Option ID :- 42,

« Almora, Option ID :- 43,

« Solan, Option ID :- 44,
Answer Given:- Not Attempted
Correct Answer :- Srinagar Option ID :- 41

Question ID:- 59

What are the major threats to coral reefs and their habitats
1. Unmindful fishing practices

2. A warming climate
Options:-

«Only 1, Option ID :- 233,
= Only 2, Option ID :- 234,
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= None of these, Option ID :- 236,
Answer Given:- Only 2, Option ID : -234
Correct Answer :- 1 and 2 Option ID :- 235
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Question ID:- 31

Which is the largest river by discharge volume of water in the world ?
Options:-

=Nile, Option ID :- 121,

« Panama, Option ID :- 122,

= Amazon, Option ID :- 123,

= Yangtze, Option ID :- 124,
Answer Given:- Amazon, Option ID : -123
Correct Answer :- Amazon Option ID :- 123

Question ID:- 103

Find the next term of the series from the following given options: “0.5, 2, 4.5, 8, __"
Options:-

«9.5, Option ID :- 409,

« 11.5, Option ID :- 410,

=« 12.5, Option ID :- 411,

=« 19.5, Option ID :- 412,
Answer Given:- 12.5, Option ID : -411
Correct Answer :- 12.5 Option ID :- 411

Question ID:- 15

What was the name of the poet that wrote “Prithviraj Raso" ?

Options:-

«Chand Bardai, Option ID :- 57,
= Bilhana, Option ID :- 58,

« Jinadattasuri, Option ID :- 59,

= None of these, Option ID :- 60,
Answer Given:- Not Attempted
Correct Answer :- Chand Bardai Option ID :- 57

Question ID:- 52

Which Indian Public sector enterprise took a $750 million Japanese yen loan for
reducing air pollution from its power projects?

Options:-

«BHEL, Option ID :- 205,

« ONGC, Option ID :- 206,

« NHPC Limited, Option ID :- 207,

= NTPC Limited, Option ID :- 208,
Answer Given:- NTPC Limited, Option ID : -208
Correct Answer :- NTPC Limited Option ID :- 208

Question ID:- 63

The "Climate Neutral Now" Initiative encouraaes and sunnorts oraanizations to act
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Options:-

«UNFCCC, Option ID :- 249,

=« Global Environment Facility, Option ID :- 250,

= International Union for Conservation of Nature, Option ID :- 251,

= Global Green Growth Institute, Option ID :- 252,
Answer Given:- Not Attempted
Correct Answer :- UNFCCC Option ID :- 249
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Question ID:- 21

In which of the following year, Indian Home Rule Society was established?
Options:-

1903, Option ID :- 81,

=« 1905, Option ID :- 82,

»« 1907, Option ID :- 83,

=« 1904, Option ID :- 84,
Answer Given:- Not Attempted
Correct Answer :- 1905 Option ID :- 82

Question ID:- 61

The biomass in the upper trophic levels is generally as compared to the lower

trophic levels.

Options:-

=«Very high, Option ID :- 241,
« Very low, Option ID :- 242,
= Similar, Option ID :- 243,

= Sequenced, Option ID :- 244,
Answer Given:- Very high, Option ID : -241
Correct Answer :- Very low Option ID :- 242

Question ID:- 45
The first in-depth review of India’s energy policies was released in 2020. The report
was released by in partnership with the NITI Aayog.

Options:-

«International Energy Agency, Option ID :- 177,

= Bhabha Atomic Research Centre, Option ID :- 178,
= World Energy Council, Option ID :- 179,

» International Renewable Energy Agency, Option ID :- 180,
Answer Given:- Not Attempted
Correct Answer :- International Energy Agency Option ID :- 177

Question ID:- 17

Who among the following was the author of poetic work "Harishchandra Kavya" ?
Options:-

«Tikkana, Option ID :- 65,

=« Amir Khusrau, Option ID :- 66,

= Raghavanka, Option ID :- 67,

« Harihara, Option ID :- 68,
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Correct Answer :- Raghavanka Option ID :- 67

Question ID:- 117
Find the value of P, If 738P6P is divisible by 11.

Options:-

»2, Option ID :- 465,
=« 3, Option ID :- 466,
= 6, Option ID :- 467,

=« 9, Option ID :- 468,
Answer Given:- 9, Option ID : -468
Correct Answer :- 9 Option ID :- 468

Question ID:- 19
On which of the following day, Gandhiji picked up a handful of salt and inaugurated
the Civil Disobedience Movement?

Options:-

«8th May, 1926, Option ID :- 73,

=« 13th February, 1929, Option ID :- 74,
=« 6th April, 1930, Option ID :- 75,

=« 18th July, 1928, Option ID :- 76,
Answer Given:- 6th April, 1930, Option ID : -75
Correct Answer :- 6th April, 1930 Option ID :- 75

Question ID:- 95

Which of the following option can replace the question mark(?) in the given analogy:
Book : Cover :: Painting : ?

Options:-

«Wall, Option ID :- 377,

=« Frame, Option ID :- 378,
= Brush, Option ID :- 379,

= Sharpener, Option ID :- 380,
Answer Given:- Frame, Option ID : -378
Correct Answer :- Frame Option ID :- 378

Question ID:- 74
Choose from the following given options, the SYNONYM of the

given word:

Enmity

Options:-

sbenevolence, Option ID :- 293,
« affinity, Option ID :- 294,

« affection, Option ID :- 295,

« hatred, Option ID :- 296,
Answer Given:- hatred, Option ID : -296
Correct Answer :- hatred Option ID :- 296

Question ID:- 108
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Options:-

«1, Option ID :- 429,
« 2, Option ID :- 430,
« 5, Option ID :- 431,
= None of these, Option ID :- 432,

Answer Given:- 2, Option ID : -430
Correct Answer :- None of these Option ID :- 432
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Question ID:- 5
Which film received the best Documentary (feature) award in the 94th Academy
awards Oscar 2022 ?

Options:-
sAscension, Option ID :- 17,
= Writing with Fire, Option ID :- 18,

= Summer of Soul, Option ID :- 19, . Attica, Option ID :- 20,

Answer Given:- Not Attempted
Correct Answer :- Summer of Soul Option ID :- 19

Question ID:- 101

Find the missing term of the series from the following given options: “1200, 600,
1800, ?, 2700, 1350, 4050"

Options:-

+900, Option ID :- 401,

=« 1000, Option ID :- 402,
« 1200, Option ID :- 403,
« 800, Option ID :- 404,

Answer Given:- 900, Option ID : -401
Correct Answer :- 900 Option ID :- 401
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